
UNIT – III 
 

ELECTRO – CHEMISTRY 

fo|qr jlk;u 

MCQ 

1) Which one is the correct equation that represents the first law of electrolysis ? 

a) Mz = ct b) m = zct c) mc = zt d) c= mzt  

fuEufyf[kr esa ls dkSu lk lehdj.k fo|qr vi?kVu ds ÁFke fuxe dks fu:fir djrk 

gSA  
a) Mz = ct b) m = zct c) mc = zt d) c= mzt  

 
2) One faraday is equal to 

a) 9650 columb  b) 10,000 columb c) 19640 columb d) 96500 columb 

,d QSjkMs cjkcj gSA  
a) 9650 columb  b) 10,000 columb c) 19640 columb d) 96500 columb 

 

3)  When one faraday of electric current is passed, the mass deposited is equal to 

a) One gram equivalent  b) one gram mole 

c) electro chemical equivalent d) half gram equivalent  

,d QSjkMs fo|qr /kkjk Áokfgr gksus ij tek gq, inkFkksZa dh ek=k gksxhA  

a) ,d xzke rqY;kad  b) ,d xzke eksy  

c) fo|qr jlk;fud rqY;kad  d) vk/kk xzke rqY;kad  
 

4) The theory of ionization was presented by : 

a) Faraday b) Arrhenius c) Ostwald d) Rutherford 

vk;fudj.k dk fl)kar fdlus fn;k Fkk & 

a) QSjkMs  b) vkgsZfu;l c) vkslokYM d) jnjQksMZ  
 

5) On passing ion one Faraday of electricity through a dilute solution of an acid, the volume of 

hydrogen obtained at N.T.P. is 

a) 22400 ml b) 1120 ml c) 2240 ml d) 11200 ml 

fdlh vEy ds ruq foy;u esa ,d QSjkMs fo|qr /kkjk Áokfgr djus ij] HTP ij ÁkIr 

gksus okys gkbMªkstu dk vk;ru gksxk &  
a) 22400 ml b) 1120 ml c) 2240 ml d) 11200 ml 

 

6) Conductivity of aquous solution of an electrolyte depends on : 

a) Molecular mass of the electrolyte  b) boiling point of solvent 

c) degree of ionisation    d) volume of the solvent  

 



fdlh vi?kV~; ds tyh; foy;u dh pkydrk fuHkZj djrh gS &  

a) vi?kV~; ds vkf.od Hkkj ij   b) foyk;d ds æo.kkad fcUnq ij  

c) vk;fudj.k dh dksfV    d) foyk;d dk vk;ru  
 

7) The amount of electricity that can deposite 108 g of silver from silver nitrate solution is 

a) 1 ampere b) 1 coulomb c) 1 Faraday d) 2 ampere 

flYoj ukbVªsV ds foy;u ls 108 xzke flYoj ,df=r djus esa yxus okys fo|qr /kkjk 

dk eku gksxkA  

a) 1 vkEih;j b) 1 dqykWe c) 1 QSjkMs d) 2 vkEih;j  
8) One Faraday of electricity will liberate one gram mole of the metal from the solution of : 

a) Bacl2  b) CuSo4 c) AlCl3 d) NaCl  

fuEufyf[kr esa fdlds foy;u ls 1 QSjkMs fo|qr /kkjk 1 xzke eksy /kkrq fuxZr djsxhA  
a) Bacl2  b) CuSo4 c) AlCl3 d) NaCl  

 

9) Which of the following is an ionic compound 

a) Alcohol b) Hydrogen Chloride  c) Sugar d) Sodium nitrate  

fuEufyf[kr esa ls dkSu lk vk;fud ;kSfxd gSA  

a) vYdksgy b) gkbMªkstu DyksjkbM c) lqxj  d) lksfM;e ukbVªsV  
 

10) In electrolysis, reaction takes place on cathode is 

a) Oxidation b) Reduction  c) Deposition  d) Dissociation 

fo|qr vi?kVu esa dSFkksM ij dkSu lh ÁfrfØ;k gksrh gSA  

a) vkDlhdj.k b) vodj.k   c) fuxZeu   d) fo[kaMu  
 

Very short answer Question – 1 marks  vfr y?kq mÙkj Á’u& 1 vad  

11) What is unit of electric conductivity ? 

fo|qr pkydrk dh bdkÃ D;k gS \ 

12) What is molar conductivity ? 

eksyj pkydrk D;k gS \ 

13) What is Faraday constant ? 

QSjkWMs fLFkjkad D;k gS \ 

14) What is specific conductivity ? 

fof'k"V pkydrk D;k gS \ 

15) What is bad conductor ? 

vipkyd D;k gS \ 

16) What is strong electrolyte ? 

Ácy fo|qr vi?kV~; D;k gS \ 
 



17) What is unit of molar conductivity ? 

eksyj pkydrk dh bdkÃ D;k gS \ 

18) What is standard electrode potential ? 

ekud bysDVªksM foHko D;k gS \ 

19) What do you mean by conductor ? 

pkyd ls D;k le>rs gSa \ 

20) What is descriptive name of SHE ? 

SHE dk iwjk uke fy[ksa \  
 

Short Answer Question – 2 marks   y?kq mÙkj Á’u& 2 vad 

21) Write cell reaction of the following – 

Mg (s) | Mg
2+

 (0.2M) || Ag
+
 (0.001 M)| Ag (s) 

fuEufyf[kr lsy dh ÁfrfØ;k fy[ksaA  
Mg (s) | Mg

2+
 (0.2M) || Ag

+
 (0.001 M)| Ag (s) 

 

22) Discuss Hydrogen electrode.  

gkbMªkstu bysDVªksM dk o.kZu djsaA  
23) What is electrolysis ? Write chemical reaction. What takes place during electrolysis of aquous 

Nacl.  

fo|qr vi?kVu D;k gS \ jklk;fud lehdj.k fy[ksaA Nacl ds tyh; foy;u ds fo|qr 

vi?kVu ds nkSM+ku D;k gksrk gS \  
24) What is obtained by the electrolysis of molten Nacl. Write equation. 

æfor Nacl ds fo|qr vi?kVu ls D;k feyrk gS \ lehdj.k fy[ksaA  
25) Define -  a) Anode b) Cathode 

O;k[;k djsa & a) ,uksM b) dSFkksM   
26) Give an example of a fuel cell and write the cathode and anode reaction for it. 

Ãa/ku lsy dk ,d mnkgj.k nsa rFkk dSFkksM vkSj ,uksM ÁfrfØ;k fy[ksaA  
27) Define and express the relation between conductivity and molar conductivity for the solution of 

an electrolyte. 

fo|qr vi?kV~; ds foy;u ds fy, pkydrk ,oa eksyj pkydrk esa laca/k LFkkfir djsaA  
28) Predict the product of electrolysis in each of the following : 

a) An aqueous solution of AgNO3 with silver electrode 

b) An aqueous solution of AgNO3 with Pt electrode  

fuEufyf[kr ds fo|qr vi?kVu ls feyus okys inkFkZ dk uke fy[ksaA  

a) AgNO3 dk tyh; foy;u ftlesa flYoj bysDVªksM gksA  

b) AgNO3 dk tyh; foy;u ftlesa Pt  bysDVªksM gksA  
 

 



29) What do you mean by standard electrode potential of the system Mg
2+

/Mg. 

Mg
2+

/Mg  ds ekud bysDVªksM foHko ls D;k le>rs gSa \ 

30) Can you store CuSO4 solution in Zinc vessel ?  

D;k CuSO4 foy;u dks ftad ds cÙkZu esa j[k ldrs gSa \ 

31) Write the half cell reaction and net cell reaction for the following : 

i) Ni (S) | Ni
2
+ || Ag

+
| Ag(S) 

ii) Cr| Cr
3+

 ||Pb
2+

 | Pb 

fuEufyf[kr dk v)Z lsy ÁfrfØ;k ,oa lsy ÁfrfØ;k fy[ksaA  
i) Ni (S) | Ni

2
+ || Ag

+
| Ag(S) 

ii) Cr| Cr
3+

 ||Pb
2+

 | Pb 

 

32) Give the units of specific conductance, cell – constant, molar conductance. 

fof'k"V pkydrk] lsy fLFkjkad ,oa eksyj pkydrk dh bdkÃ fy[ksaA  
33) Explain main function of salt bridge in electro chemical cell. 

fo|qr jklk;fud lsy esa yo.k lsrq ds dk;Z dk o.kZu djsaA  
34) What is the difference between electro chemical cell and electrolyte cell.  

fo|qr jklk;fud lsy ,oa fo|qr vi?kVu lsy esa D;k vUrj gS \  
35) What are primary cells ? How does a dry cell function ?  

ÁkFkfed lsy fdls dgrs gSa \ ,d 'kq"d lsy fdl Ádkj dke djrk gS \  
36) Calculate the emf of the following cell at 25

o
c Cr/Cr

3+
 || Fe

2+
 /Fe 

Given E
o
Cr

3+
/Cr = -0.75v, Fe

2+
/Fe = 0.45v 

fuEufyf[kr lsy dk fo|qr okgd cy Kkr djsaA rkiØe& 25
o
c Cr/Cr

3+
 || Fe

2+
 /Fe 

Given E
o
Cr

3+
/Cr = -0.75v  ,oa  Fe

2+
/Fe = 0.45v  

 

37) Calculate the degree of dissociation of acetic acid at 298 k, given that 

⁄m (CH3COOH) = 11.7 S cm
2
 mol

-1
 

⁄m (CH3COO
-
) = 40.9 S cm

2
 mol

-1
 

⁄m (H
+
) = 349.1 S cm

2
 mol

-1 

298 k ij ,flfVd vEy ds fo;kstu dksfV dk eku Kkr djsaA fn;k gqvk gS &  
     m (CH3COOH) = 11.7 S cm

2
 mol

-1
 

⁄m (CH3COO
-
) = 40.9 S cm

2
 mol

-1
 

⁄m (H
+
) = 349.1 S cm

2
 mol

-1 

 
 

38) Write the product obtained by the electrolysis of dilute sulphuric acid using Pt – electrode. 

IySfVue bysDVksM dh mifLFkfr esa ruq xa/kd vEy ds foy;u ds fo|qr vi?kVu ls D;k 

feyrk gS \  

 
 

39) Write half cell reaction and nett cell reaction of the following cell. 

Cr/Cr
3+

 (0.1 M) || Fe
2+

 (0.01 M)/Fe  



fuEufyf[kr lsy dk v)Z lsy lehdj.k ,oa lsy lehdj.k fy[ksaA  
Cr/Cr

3+
 (0.1 M) || Fe

2+
 (0.01 M)/Fe  

 

40) At normal temperature Na reacts with water, while at high temperature Mg reacts with water 

why ? 

lksfM;e ty ls lk/kkj.k rkiØe ij ÁfrfØ;k djrk gS tcfd Mg ty ls mPp rkiØe 

ij ÁfrfØ;k djrk gSA le>k,¡A  
41) Iron displace Cu from CuSO4 solution but Pt not, why ? 

Fe, CuSO4 foy;u ls Cu foLFkkfir djrk gS ij Pt ughaA le>k,¡A  
42) In the following galvance cell :- 

Cu|Cu
2+

||Ag
+ l

  Ag  

both half cell is at standard condition then calculate e.m.f. of the cell. 

Given that, E
o
 Cu

2+
/Cu = +0.34v 

   E
o
 Ag

+
/Ag = +0.80v 

fuEufyf[kr xSyoSfud lsy Cu|Cu
2+

||Ag
+ l

  Ag esa vxj nksuksa v)Z lsy ekud fLFkfr esa gksa 

rks lsy dk fo|qr okgd cy Kkr djsaA  
43) What do you mean by oxidation – reduction potential or redox potential ? Explain with 

example. 

vkDlhdj.k& vodj.k foHko ls D;k le>rs gSaA mnkgj.k lfgr le>k,¡A  
44) Give reason why on heating HgO decomposes but MgO not ? 

xeZ djus ij HgO fo?kfVr gks tkrk gS ij MgO ughaA le>k,¡A  
45) Write and explain Kohlrausch’s law. 

dksyjkm'k ds fu;e dks fy[ksa ,oa bldh O;k[;k djsaA  
46) What is the difference between metallic conductor and electrolytic conductor. 

/kkrq pkyd ,oa fo|qr vi?kV; pkyd esa D;k vUrj gS \ 

47) What is the effect of dilution on specific conductivity ?  

fof'k"V pkydrk ij lkaærk dk D;k ÁHkko gksrk gS \  
48) In the given reaction 

2 Ag
+
 (aq) + Cd 

---------
>  2Ag + Cd

2+
 (aq) 

E
o
 Ag

+
/Ag = 0.80v and E

o
Cd

2+
/Cd = -0.40v. Predict  

i) What is E
o
 of cell ? 

ii) Which electrode is positive and which is negative. 

fuEufyf[kr ÁfrfØ;k esa  
2 Ag

+
 (aq) + Cd 

---------
>  2Ag + Cd

2+
 (aq) 

E
o
 Ag

+
/Ag = 0.80v and E

o
Cd

2+
/Cd = -0.40v 

crk,¡ ¼i½ lsy ds Eo dk eku ¼ii½ dkSu lk bysDVªksM /kukRed gS vkSj dkSu lk _.kkRed 

gS \  
49) What is the difference between electro mofive force and potential difference ?  

fo|qr okgd cy vkSj foHkokarj esa D;k vUrj gS \  



50) The blue colour of the solution disappear when Zinc Rod is commersed in a copper sulphate 

solution. Write equation.  

lkUæ dkSij lYQsV ds foy;u esa ftad dk NM+ Mkyus ij foy;u dk uhyk jax xk;c 

gks tkrk gSA lehdj.k ds lkFk le>k,¡A  
51) Electric current of 1.5 ampere is passed into copper sulphate solution for 10 minutes. What is 

mass of copper deposited on cathode. 

1-5 vkeih;j fo|qr /kkjk 10 feuV rd dkSij lYQsV ds foy;u esa Áokfgr djus ij 

dkSij dh fdruh ek=k dSFkksM ij tek gksxhA  
52) On passing electric current of 5 ampere for 30 minutes,  through a AgNO3 solution 10 gram of 

silver is deposited.    

Calculate electro – chemical equivalent of silver. 

AgNO3 ds foy;u esa 5 vkeih;j fo|qr /kkjk 30 feuV rd Áokfgr djus ij 10 xzke 

flYoj tek gksrk gSA  

flYoj dk fo|qr jlk;fud rqY;kad Kkr djsaA  
53) How many minute will it take to reduce 0.20 mole of Cu

2+
 to Cu by using 1 ampere of electric 

current ? 

1 vkeih;j fo|qr /kkjk ds Áokg ls 0-20 eksy Cu
2+ dks Cu esa voÑr djus esa fdruk 

le; yxsxkA  
54) How many hours will it take to reduce 2 mole of Fe

3+
 to Fe

2+
 by using 5.0 ampere of electric 

current.  

2 mole of Fe
3+

 dks Fe
2+ esa voÑr djus ds fy, 5 vkeih;j fo|qr /kkjk dh lgk;rk ls 

fdruk le; yxsxk \  
55) State Faraday’s first and second law of electrolysis. 

fo|qr vi?kVu ls lacaf/kr QSjkMs ds ÁFke ,oa f}rh; fu;e dks fy[ksaA  
57)       Calculate e.m.f. of the following cell at 25

o
c. 

Cr/Cr
3+

 (0.1M) || Fe
2+

 (0.01M)/Fe  

Given that E
o
Cr

3+
/Cr = -0.75v, E

o
Fe

2+
/Fe = 0.45v 

fuEufyf[kr lsy dk fo|qr okgd cy 25
o
c ij Kkr djsaA  

Cr/Cr
3+

 (0.1M) || Fe
2+

 (0.01M)/Fe  

fn;k gqvk gS Eo
Cr

3+
/Cr = -0.75v, E

o
Fe

2+
/Fe = 0.45v 

 

 


